ex
R.amemyvec: \age S = quswer | \\n = \O%e
QNSwer = €Y aent
Algebra Il \O%ba.se. Name
Review - Exponential & Logarithmic Functions Date per
Write each equation in log form.
3 \25 = 4 =
L g-15 VA5 S 4, oo ooy ga 8 % <
v
Write each equation in exponential form
3. 1og0.00001=-5 T \0_5 = 0.0000\1 1o 3§ \ 4
S oose =10 g
Write the inverse of each of the following functions. wmeve =G Yo \€'Q'\' &.‘Lée
5. f(x)=logsx+2 = = Yt%‘ 6. f(x)=3"-6 Ax0= 3\{‘4
Y =\oggXt2 ) y =3¢ \@83(;<+Q= et
-4 = 4 P
= \OC\S\erZ \{ X = 5’ q-‘G) \OC\-Q,("‘*Q"VA id
g ot e = - —x+1
A PEE I, (] e = AT
-4 = \n - i \ X6 = =Y
y=-alnyd a| 52 =0 )y =Gy ¢ 5
e = Y4l x s (NI —loa, (#50) A\ T 4
Evaluate the following. \Z] = N
: SR \o¥* = L
9. log, 64 = e, AY = O4 10. log—l—z -\ Dx (=
4* = (&%) o \o* =0
_7( = 3 e \OO.%C."-’-\O X = ]
0 L3
1. log, %= ul 4){ = e 12. 0817 ok _%Yt T (9‘)§2L)
* -2 -\ X - 2'-2:
\50-\-3‘.\ -_'..Li" 2 4 - (4 ) @ - ‘Q:' l
= 9 % =—2a e
1. log,,, V125 = =2 V3 03* _ [3
Y\ A'( 14 10g27 T = - -—.-—3—"
X 5
) =S (2= st
_a\¢ —y J—)
(72 ={(5") (N2 = "5 (3
‘_é’* 2. NJ] =\
B~ = D& r o= =L g
g (o,
- l -3--" "'L' “le . '3 B‘L' 1
M 2-(3) L S
X =3 :



Solve for x.
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Graph the foilowing and provide the other information requested.
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